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BACHELOR OF SCIENCE (GENERAL)

(BSCG)
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June, 2023
BZYCT-137 : GENETICS AND EVOLUTIONARY
BIOLOGY
Time : 2 Hours Maximum Marks : 50

Note : Question No. 1 1is compulsory. Attempt
any four questions from Question No. 2

to Question No. 7.

1. (a) Define the following terms : 1x5=5
(1) Gene

(1) Homozygous
(i11) Position effect
(iv) Vestigial organs
(v) Wallace effect
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(b) Match the following :
Column A

(1) Meselson (1)
and Stahl

(1) Codominance (2)

(111) Metacentric  (3)

(iv) Watson (4)

(v)  Reproductive (5)
isolating

barriers

BZYCT-137
1x5=5
Column B
Pre-zygotic and
post-zygotic
Centromere is in
middle
DNA replication
1s semi-
conservative
Both the alleles

are equally

expressed

Established the
existence of
catalytic RNAs

2. Differentiate between the following pairs :

2.5x4=10

(1) Balanced translocation and Unbalanced

translocation

(i1) Kin selection and Group selection

(111) Sympatric  speciation

speciation

and Allopatric

(iv) Monohybrid crosses and Dihybrid crosses
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Explain the clinical significance of Rh antigens

in human blood. 10

What is trisomy ? By what mechanism does it

come to existence ? Explain. 10

What were the favourable conditions for the
origin of molecules and life on the primitive

earth ? Discuss. 10

Explain the similarities and differences

between background and mass extinction. 10

What are isolating mechanisms ? Describe its

different types. 10
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(a) f=fafaa =1 faam wifsT . 1x5=5
HiAT A i B
) e wd (1) gmeSgd @R
LS| qII-JTHSIY
() gegwfoar  (2) A=< 7 |
fearfa gran @
(i) Heghst @) grua gfasfaem
STt B €
(iv) (4) Il wela &+t
A ATt
et ©
V) S (5) 3ITTHI RNAs &
PREETU ifca 1 Terfud
3T feman

2. fFAfafed gl & o9 R ST @ 2.5%4=10
(i) HIfea TR iR STEgferd TemiaRo
(ii) TS X7 3R THE RO
(iii) et Sifq Sg9eH ek foaenfir wfa
EEGER|

(iv) TohEHT Gt 3T TgHent Hemto

P.T.O.



b

[6] BZYCT-137

Mg R °§ Rh T=RisH & fafecda ggc &l
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